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1. T aiferea, TeAfsgrsn Sl dvr wafg fae.

6, 13, 25, 51, 101, ?

1) 2;m (2) 202

(3) 203 - (4) 205

Replace the question mark, choosing correct alternative in the given series.
6, 13, 25, 51,101, 7

(1) 201 (2) 202

(3 203 (4) 205

2, E, F, G aftt H o 91 MaH=IHT T Fad U fean amed eala A Sl 3§ g
S SR e SIS Y. W SIS AT A 2, 4, 59 6 3 3.
TH I Adia o S Sehl i g WhAd, g STeiaET SHT el sawhieA
SR T T AR, T W fean e Srt 3 @ A Auren s g feenfiem
A TSI IR, A1 e MR TG JASHTEIS T oo fhe 9o fifer

FrEauny g9 Haer.
1 21 (2 23
3 25 (4) 19

Four villagers E, F, G and H want, to cross a shaky bridge across the river made of
wooden planks and ropes during night using only single lamp. Their speed of
crossing is 2, 4, 5 and 6 respectively. At a time at the most two persons can cross the
bridge. The pair must walk together at the speed of slower person. After crossing the
bridge person having faster speed must return with lamp each time to accompany
another person in the group. Finally, the lamp has to be kept at the original place
and the person carrying it has to cross the bridge again without lamp. Select the

option that shows total minimum time in minutes all these villagers will require to

cross the bridge.
(1) 21 (2) 23
(3) 25 4y 19
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3. A B,C,D EdF 9H O U Agd. =1 Sgas Aifadt arm e amria aifbes

T A EA e

9. ATERF < §a ama.

F. D E A YR AR ; T qOrn 9 T Tordl.

. BEIAS AN 1R,

T, HEN $¢E B Thd ey IR,

gt I ;

() A, B3 Cawd faan smd (2) DE A st R
3 DHFPIIARA:ETF (4) D & F =it qerft ame

A, B, C, D, E and F are members of joint family. Study the information about them
and select logically correct inference based on it.

a. The number of males equals that of females.

b. A andE are sons of F.

c.  Mother D has two children : one girl and one boy.

d. BissonofA

e.  There is only one couple in the family at present.

Answer Options :

(1) A, BandC are all females (2) Dis the wife of A
(3) D has two children: E and F (4) D is daughter of F

4. v fafire off SHE afd=a v ERER Jar. @ dewid gEbe fum fas
(1) = wfg=adier afgen Hrar 4 ARl 3.
(2) T A TrE faan v IRan IR,
(3) 31T TER v AT IR,
(4) 1 SHEE gUaR STEU EEa .
In a particular year the month of January contains five Fridays. Select the false
statement with respect to this.
(1) The 1% Friday in the month definitely occurs before
(2) It is possible that there can be five Sundays in this month.

4th

(3) It is possible that 31° January can be Monday.
(4) It is possible that 15 January can be Wednesday.
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5.  WIeh Qe STEUHI Yok stk fo T el A e o Al q@e 7 Han e W
FOGRA 2 : 100 Frrt gae wf IR NG fFa 1000 frft ar o= sfwgadE w
W, T M R, T HIGT IHUEE TS IR MM T @IS T
syl H dTedd ST TS, AT SEeTgs el S STHUIR R J e ATt A
o fier. & W ey svel! AT Seifaa ot S wege ey dEe.

7 Retemiet alier girarer STurE STFae e 9t Hum waid IgTEeT e

(1) ASTEt O AlBIE] HETEaET! el U= Fiehi1 3= o 0 91T Tt TR

(2) FE WaSd T8 WA Had [ yew Juha 3R MsEEn @,

(3) avft W& qieEiA afea fhma dieft el Wias revel wea T qrRvT=ME b
A UF YIS I

(4) E g YA HUIATIET HEe Fam FrmHado @ Y69 U= deH St
g gl

Each vehicle owner pays some amount as road tax regardless how much one uses the
roads : any person who covers as little as 100 km pays same as any person who
covers 1000 km. This is unfair. There is a need to scrape road tax and money
necessary for maintaining roads should be raised by increasing tax on fuels. This
change will automatically ensure that those who use roads more will be paying
more. This is not only fairer tax system but might also bring in additional revenue.
Select from the following the best example that illustrates principle underlying the
above argument.

(1) People with permanent jobs should be made pay higher taxes than daily
wagers.

(2)  Only those who cannot afford should get free medical treatment.

(3) Television channels should be paid for by subscriptions so that only those
people who watch them should be made to pay.

(4) Persons who travel to work by train regularly should pay a lower fair than
those who travel only occasionally.

6. NEBFATT % AT, C #e B € % AR DwE C= T % AR, T D H
T 2 AR HAEAA, T A e frdt 308 o1req ?
1) 14 & @) 525
3) 13-23 or@ ' (4) 525 wrE
Today B has T % of A. C has T % of B. D has T % of C. D possess T 2 lakh, then

how much Rupees A has ?

(1) 14 lakh (2) 52'5lakh
(3) 13-23 lakh {(4) 525 1lakh
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7. 7o FeIAAH A wre 1 foean Hgd wae asag AV eRdl TN HgeAn S e
TSN AR, g, HeTea daEl Aol wedeA Wi g wlier suaEd
el wEe T g T 9. @ qaiea geardsa dhs Radien dgen
Bl =l gemn hell deg1 @ dge Gt wrfen worw wrofis s e
ARHAA TES AHEA Feet S I Grd 8. O S T T TR qeeed
(FiEFETTs) I Foamrd =i F Ty Aiesn Fe gigaar wem 21 7 | 5 SR,
e TERTT ale giramamie 219 Sraevi garon sifegd (e,

(1) T ot T TRu drheeds g Tafifics sdfas o A
(2) wyt=an fafie Iemomen snur gigaEdar ame frd ween AR,
(3) A IHACT TGS FATeA1 TATER HGAT S ST FHerd 3 TIE,
(4) TP GEEAH HGHT TR W HRUHG SFETET 3 T4 T G A8

Everyone is familiar with plasticity of brain due to which with new learning person

can bring in changes in his or her brain. For example a famous study of preparing

for the exams taken by London taxi drivers testing their geographical knowledge of

London. When brain-scans taken at the start of their preparations and at the end

were compared, it was found that the parts of the brain responsible for spatial

memory had actually increased in the size. This would seem to suggest that, just like

a muscle, the brain increases in size and power the more it is used. People who want

to improve their overall IQ (Intelligence Quotient), therefore, should simply take a

very large number of IQ tests!

Select from the following options the best expression of the flaw in the above

argument.

(1) London taxi drivers are not necessarily representative of the population as a
whole. 7

(2) It draws a general conclusion about intelligence from the particular example of
memory.

(3) Brain size is not necessarily dependent on the extent of mental activity
undertaken.

(4) Tt assumes that there is a single part of the brain that is responsible for one’s

IQ.
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8. U veaTs v foudia daa amg #, gl 12 g e fifie s S i et @
gt 1-30 ST w1 ISIBIA drEeRrel Hiord T it
() IW (2) cfem
3 w (4) dfE=m
A clock is so placed at 12 noon it’s minute hand points towards North-East. In which
direction does it's hours hand point at 1-30 pm ?
(1) North (2) South
(3) East (4) West

9. wI IB1 A GERET ceaE Y AU Auet HEdd. Heaned SEe qid gauem
T HEITH EvETeAT THie FTE wiek di wifoes glauEn v, o= Tt SR
anfir Trerrea wehTaETETST mmmﬁmwﬁ%m
TR S gHa T SgEed Al qor W T
FCAERE TH WA qA qEOE QU9 98 FEed TEreen @, Aed ST
T fHEm SuETET TS A SReH 8 afee game areEen .

e ufeedern frsd 3@ onft watan sifieshl géawatq Faer.

(1) AFETeR Sdae ey cnfaef wved amm=iiwon s w3 .

(2) TG IITAT REATS F6T T JOGT=AT 29 SaTeedT ! Srgeayamr fim .

(3) WE 90 AW UHH HFd E@avEd FOAedl WRENE! SEH  qeRom \om
qreATdie Tgard.

(4) 3 Td O A 9O S TR,

The differences between human beings are sometimes more striking than the
similarities. Though in minority, some people are driven by a competitive urge to be
the first or the best, undertake ambitious expeditions involving severe physical
deprivations, high risk of fatality, and extreme isolation. If one compares these
people to the majority who prefer an easy, risk free life of comfort and we can see
that one human being can be as different from another in their behaviour as two
different species of animals. While attempting to form general rules about human
behaviour one needs to bear this variation in mind.

Select from the following options that best expresses the conclusion of the passage
above.

(1) Variation in human behaviour makes it difficult to make any generalisation
about it.

(2) Members of the human race can be as different in their behaviour as two
separate species of animals.

(3} Humans who take risks in the interests of achieving unusual feats are
untypical.

(4) Human beings are superior to all other animals.
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10.

8 A

e TN e SR SETET 3 T v e SR S e e s
1 70 Fft FA AT IR, TR UGS 40 T Ferear qrevlid I 1 e, @
fardt v g 7

(1) 10

(2) 30

(3) 25

(4) 35

For the competitive test, 3 marks are given for every correct answer and for every
wrong answer 1 mark is deducted. If Rahul scored zero marks in the test of
40 questions. How many questions he answer wrongly ?

(1) 10

(2) 30

3y 25

4) 385

11.

Téte SR I QU Haifud v Feer o qeae oo o et 2

. W GeaTdirEd @ gederd) 132 9 A,

9. I @ Qe el UHTT geard FEA 132 9 A
i IW ;

(1) o Tl “5” Yool TR oMfOr werr AR “av” qaaht .

(2) “3” 3 @ Wigd! THAUn [ .

(3) ara A “31” gt SR UM e Wifet <@ gefi A

(4) 3 F “q” & afedl AT i T

Select the most appropriate option with respect to answering following question.
How many total number of pages are there in this book ?

a. Jana counted its 132 pages from the beginning of the book.

b. Monu counted its 132 pages from the last page of the book.

Answer Options :

(1) Information “b” alone is sufficient and information “a” is not necessary.
(2) Information “a” and “b” together are sufficient.

(3) Information “a” alone is sufficient and information “b” is not necessary.

(4) Information “a” and “b” together are not sufficient.
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12, F FOAEER 49 987 weaEdl O, P, R, S, U, VA W 31 €1d aearl setel Joredt arqteft
y&iftd @, PA R, 83 Wal= UF V Tisa goaw ord G v 9&fie dma. 0w U
H3, R%TA S %8, Uwegd P F3, W Hhgd O *3, MM W Fg R H AT Heq J&IFT el
. N WM GE HOMAT I HeW T HO1 ATATE0RIH 69 a5 o g i wmt
JTAEY ITRA IO G2 & F TE U O TesaT Sal HIVIE A =41 qAIa F§9H A8 o

EUCEUINRT (DR ECEAR
1) P—>S 2 R-V
3 U-W 4 W-P

There is a system composed of seven terminals. O, P, R, S, U, V and W that are used
for relaying messages according to given rules. Each terminal can transmit any
message initiated by it as well as any message received from others as per following
rules; message can be transmitted between terminals P and R, S and W, and U and
V in either direction. Messages can be transmitted from O to U, from R to S, from U
to P, from W to O, and from W to R. Select the option that indicates initiating and
final recipient respectively, between which a message travel along two alternate
routes that have no terminal common except initiating terminal and the final

receiving terminal.
(1) P->S (2) R-V
3 U->W (4) WP

13. foefis @ onfit o8 Fia TH TEUET ARG GEIh 3TEd. W I @l A QiR
e TR T forefihe F qeash angd. HAThe Fiea S gEae aTed. wliws
foefen s geas e,

(1) zegws Fivad gatg = T 3.
(2) RIS ToEUE ARG JHTh IR
(3) s foefiuen it g o

(4) FHIorEl SAhIRS Hala A e 3TTed © Fifeera somendt quh wifaed s,
Lily has more books that total number of books that Raya and Dave. The total

number of book that Raya and Carl both have are more than those of Lily. Sona has
more books than Carl. Pari has more books than Lily.

Select the false statement with respect to above information.

(1) Dave has definitely lowest number of books among all.

(2) Carl has more number of books than Dave.

(3) Raya has less number of books than Lily.

(4) There is no adequate information for deciding person having highest number of
books among all.
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14. TweReiarg sardear 3391 ua wet enfir ST weRehieid eer dsu e uer e
H TEUS AT Fe5 B AT o5 ¥EvIT gt feE,
(1) 9:40am (2) 9:38am
(3) 9:36am (4) 9:28 am
One quater of the time till now from midnight and half of the time remaining from

now up to midnight sums up to the present time. Select the option that indicates
present time.

(1) 9:40 am (2) 9:38am
(3) 9:36am (4) 9:28am

15. EFTHER JSTIHEIE! aTqielel S T 1T it Jesaien w1 .

s

(1) :

(2)

-
S

N

(3) ‘ CYRN ¢4
'I

*I

Study the four parts that are used for assembling the cube and select assembled
cube.

P

7 (2}

(1)

(3) ] (4) ‘.,
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16. diegeal aold v 9 oS sid aw @ frerdla Foe W 3 TR e o
IR ISy e WiiRdiags wed faue feer '

— -
CRAIN 35924

' DRAIN | 56243

]
DRIVE | 72468

CRAVE } 28397

L _

(1) 2% ASTT 3T R T AR.

(2) 3TRAM4H I = I AR

(3) VE @ [fTed 38, wor B =1 g @i .
(4) IN =1 Ha @ria A, 9o N =01 & ffewa .

Study the accompanying table of words and their corresponding shuffled digital
codes given in each row and select the true statement about the information derived
from it.

CRAIN | 35924
|

DRAINT 56243

—

DRIVE 72468

%
CRAVE | 28397 |
L | ]

(1) Codeof A1s 2 and that of R is 3.
(2} Code of Ris 3 and that of I is 4.

{3) Code of VE is definite, but individual code of E is uncertain.
(4) Code of IN is certain, but code of N is not definite.

TeedT RIS AT / SPACE FOR ROUGH WORK P.T.O.
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17.  Sitbused @ W @eaErd TERiE S SR, Wwren Sdqieed e e
+ yiETEeRI 92 319 9v @ wam tel Wit sieetean g araftes Rrda sttt 3 fafim
T A VAT W S 18, SR S 6 T6fiE sfEmEren senEd) ans
I A9 Yaied HE 7.
WG A T A gt FaiiF gee wm faem fHaer.
(1) iy e e formet yvaifowft st #rd forg wivara.
(2) T WS A AT S o SegT O FA ST e gAY $&7
(3) wefiemgeRd s/ STl S FTeTd @R TEH AT
(4) 9= Wiad SAYarEr G gy HE .

Zoos are unsuitable places for animals to live. People visit zoos to learn about animal

behaviour but the animals they see are likely to be behaving in abnormal and

neurotic ways because of the cramped and unnatural conditions in which they are

kept. Zoos should be closed down and the money saved should be reallocated to the

protection of natural habitats.

Select the statement that would most weaken the above argument if it is true.

(1) School children can learn a great deal about animals from visiting zoos.

(2) Zoos enable endangered species to survive by breeding them in captivity and
then re-introducing them to the wild.

{3) Many of the animals at present in zoos would not be capable of living in the
wild.

(4) The protection of wildlife habitats is very costly.

18, &g faurige o= uwdieoma ¥R w9 el ardd. aids fon wefua saeg @ e

H. U9 g Warg A He TR 9.  hIE! ATChHSTS Eiehl WeadTd.
. HIVE qelHaTs WHER) E. T HIE Blh Wealg AHEH 3.
7. T dEHaTS TRE 3. 1. I g Werg wehEr AT,
et 3o | -

1) ® &, 2) T, ®, A @) 4,3,7 4) & A7

Six statements are followed by four sets of combination of three. Choose the logically
related ordered set.

a. All hockey players are athletes.  b. Some athletes play hockey.

¢. No athletes are vegetarians. d. Some hockey players are vegetarians.
e.  All athletes are vegetarians. f.  No hockey player is a vegetarian.
Answer Options :

(1) e,a,f 2) f,c,a 3) b,4,f (4) c,a,e

ToedT HETATI! ST / SPACE FOR ROUGH WORK
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19. g wiiddt Fresdligd® arang oo mfsdsh fawma smeer v fasr,

A, B,C,D,E, Fa G gaid TRwEmEl s suaia oed qur § fediean s aredier o
qE. Fa A g @ G fiF AT 3Téd. F 91 A 01=A1 307d] ST s AT, A
q G I T %R 3 AT aied. E & =afaew A fhar Pt et vt ). E & =t
Be Iudiegd ol k. B & =fea A< ormaslt 9o . E @ safe Coit aasdt e
g,

(1) G9B 3 F3 o™ YNK 3.

(2) SRA9E It @a: = AT STgenees hell @ A # Sfdm C=n geiehe fomdt o,
(3) HIE T G Ir=ar yuelt I gael, @1 C & i H =1 I9aies aeft 3ed.

(4) F & =zfom @ @ G sraihe fohan Iaefisne 19 wiedl.

Study the following information carefully and select the option that inconsistent
with the information given.

A B, C, D, E F and G are seated in a row for watching the sunset but not
necessarily in the same order. Only three people sit between F and A. Neither F nor
A sits at the extreme ends of the line. Only two people sit between A and G. E is not

an immediate neighbour of either A or F. E sits third to the right of B. B is not an
immediate neighbour of A. E is not an immediate neighbour of C.

(1} G and B are immediate neighbours of F.

(2)° If A and E exchange their positions A will be third from left of C.

{3) IfH occupies position between E and G, then C will be forth to the right of H.
(4} F can be either to the left or to the right of G.

20.  ‘aunty is greeting her caretaker” a1 Wb W yide g &7 FaemeE e
3T I q fooet Fem a3 e sveng A onfir s Qastean s
TR et Femre S Tear.
kolpo samopoak vadol = pupil called her aunty
amcili ruzeme mowdol = woman florist greeted teacher
kulpo ruzemeak sotarik = the school girl is requesting her teacher
deatalo kolpo naksrik =) the caretaker is scolding the pupil

(1) mowdol somopoak deatlo. (2) somopo deataloak mowrik.
(8) scmoppak amceili mowrik. (4) AT TRl TE

Study examples and use given rules for selecting foreign language equivalent for
expression “aunty is greeting her caretaker” : there are no exceptions to the rule and
only those rules apply that may be derived from the provided expressions.

kolpo samopoak vadol = pupil called her aunty

amecili ruzeme mowdol = woman florist greeted teacher

kulpo ruzemeak sotarik = the school girl is requesting her teacher
deatalo kolpe naksrik = the caretaker is scolding the pupil

(1) mowdol somopoeak deatlo. (2) somopo deataloak mowrik.
(3) somoppak amceili mowrik. (4) None of the above

FHEEq! HIHIWTS! ST / SPACE FOR ROUGH WORK P.T.O.
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21. 1008 @1 HIIET AEH TS U rEar e o &t A4t ?

(1) 8 (2) 7 3) 2 4 5
By what least number should we multiply 1008 to make it a perfect square ?
(1) 8 (2) 7 3) 2 (4) 6

22. wiiee 7F I s fhua € 15,000 3778, S QN e fenadie iR 31 5 ¢ 7 318
3THd, T Hq W awga fhua et 2
(1) T 3,000 (2) ¥ 6,000
(3) T 9,000 (4) T 12,000

The average price of three items of furniture is ¥ 15,000. If their prices are in the
ratio 3 : 5 : 7, then the price of the cheapest item is

(1) ¥ 3,000 (2) ¥ 6,000
(3) ¥ 9,000 (4) < 12,000

23, TWA:B=5:79B:C=6:11 @A, WA:B :C="?

(1) 5:7:6 : 2) 5:7:11

3) 30:42:717 (4) 28:24:.44
IfA:B=5:7and B:C =6:11, then find the ratioof A: B : C.
(1) 5:7:6 (2) 5:7:11

(3) 30:42:77 (4) 28:24:44

24. y=7 % o GeAih Hiven Wl TH 38 ?

1) y=x (2) y-¥4
3) y=-x 4) x-34
The line y = 7 is parallel to line

1) y=x (2) y-axis
(3) y=-x (4) x-axis

25. UH T4 8BS 3 6 Wft 9 8 Wft s I S gt EEwaAITEe A W
agesrt = foedt 2
(1) 149f (2) 128W (3 1o&W (4) 9%af
Find the radius of a circle whose area is equal to the sum of areas of two circles with
radii 6 cm and 8 cm.
(1) l4cm (2) 12cm (3) 10cm (4) 9cm

FeeT HTTATS SR | SPACE FOR ROUGH WORK
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26. TN 15% %I Uqd TF HR HHeN el @de 5% dler GEd F¥ Al wR S
T 43,700 71 farepeht ax TorgA ot R fordt Trained W Felt Bt 2
(1) ¥ 40,000 (2) ¢ 32,000
(3) T 48,000 (4) T 46,000
Ganesh sold a car to Sarthak at 15% profit, Sarthak sold car to Ankur at 5% loss for
T 43,700. Find the price at which Ganesh had purchased the car.
(1) ¥ 40,000 (2) ¥ 32,000
(3) T 48,000 ' (4) ¥ 46,000
27,  2589+1F TR 117 Pf WF AITETE * =1 AR Wieiierdshl HIvar e AGTET ?
(1) 3 (2) 4 3 7 4) b
2589+1 is completely divisible by 11. Which digit from below should be in place of *?
(1 3 (2) 4 3 7 4) 5
28. (5™ + 579 x 5% = 5% a1 weliwodie m = fwa e,
1 2 (2) 13 (3) 15 4) o
Find the value of m in the equation (5™ + 53 x 5% = 570,
(1) 2 - (2) 13 (3) 15 4) 6
29. IR A <t @islt x Hied 9 A o fei/am amR. sETE B+t wielh y fied @ 9n v A

HATR. IS8T o1 T 36 G0 A aradid deaT o YRl ¢ fifiera sfierigam qu Segt o
T N qu wreae dean w 4¢ fifiera e, S ou = 50 fefyam, @ v S T
ot 2

(1) 30 frdfifam (2 70 fedfifa

(3) 40 forrfifam (4) 50 ferrfifa

Train A has a length x metres and speed u km/hr. Train B has a length y metres and
speed v km/hr. The two trains take t minutes to cross each other when they travel

-parallel in opposite directions and 4t minutes to cross each other when they travel in

the same direction. If u = 50 km/hr, what is the value of v ?
(1) 30 km/hr (2) 70 km/hr
(3) 40 km/hr (4) 50 km/hr

Toeg] PHETATS AR / SPACE FOR ROUGH WORK P.T.O.
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30. Wl IRl SR 9 FE wf oo gia e v R Tl 2
256 31
7'8°11°'5°7
13 12
(1) = 2) ==
77 @ 35
24 19
8) — 4) ==
49 @ 56
Write difference between smallest and largest rational number between the
following :
256 34
7°8'11'5° 7
13 12
1y = 2y =
77 @) 35
24 19
3) — 4) =
49 @ 56
31. HIGH AN U AT SNiEd] Sl@edeH T 1,600 e UaW. W A hd hedwT
T 784 = foot ot SN U FE BT ?
(1) 6 2 7
(3) 8 4) 65
Sushant took loan of ¥ 1,600 with simple interest and years equal to the rate of
interest. If he paid ¥ 784 as interest of end of loan, what was the rate of interest ?
(1) 6 (2) 7
3) 8 (4) 65
32.  UH M FET AW 35 m AR, 22 km 39U Hoam@rd! G fedt e ?

(1) 220 {2) 350
(3) 700 {4) 200

If diameter of wheel of vehicle is 3-5 m, then find the number of rotations of whee] to

complete 2:2 km distance.
(1) 220 (2) 350
(3) 700 (4) 200

Foeq] HETHIS ST / SPACE FOR ROUGH WORK
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83, 38 I 98 quAweN FrmueaE S fhdl ?
(1) 2040 (2) 1445
(3) 1500 (4) 2160
Find the sum of odd numbers from 38 to 98.
(1) 2040 (2) 1445
3) 1500 4) 2160
34. TE.gd. 8,000 ¥4 2 9¥ GEAA T 1,159-20 THATE N B F 3 T Yadid e
Z 1,800-34 B4, T T5HdIE STITHT G HIel.
1) 10% - (@) 107%
3) 7% 4) 8%
The compound interest on ¥ 8,000 in two years at a certain rate is ¥ 1,159-20 and in
three years it is ¥ 1,800-34 at the same rate. Find the rate of interest if it is
compounded annually.
() 10% (2) 1-07%
3) 7% 4) 8%
35. I g IwEm F6 13 - 3x% + x + 1 91 TgIGE x — 13 HRTHR FU 00 1T Fre,

1) 2 (2) -2

3 0 4) -4

By using remainder theorem, find the remainder when x3 — 3x% + x + 1 is divided by
x—1

(1 2 (2) -2

3 0 4) -4

o] FHTATS AT / SPACE FOR ROUGH WORK P.T.O.
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36. 5Q,10Q 3T 30 Q faRIa Trar=n GHE AT v Srevft 1wl W TRt 2
(1) 309 (2) 42Q
(3) 10Q (4) 45Q

How much is the difference between parallel and series connection of 5 Q, 10 Q and
30 Q resistances ?

(1) 30Q (2) 42Q
(3) 10Q (4) 45Q

37. femdt feu dowcon St sror
(1) TR I A U] (4s3) |aTd
(2) v A g QU oTdafe E
(3) Fhoehid JSITIET TR T
(4) WHIE YA

The precious diamond shines brilliantly because of
(1) alarge number of facets

{2) partial and total internal reflections of light
(3) reflections from the polished surface.

(4) refraction of light

88, amife & 4 I, 2012 71 RAT6N T8 F7 A8 ?
(1) ‘FgufEd e wrea s B
(2) ‘ferr g (3a0) qEEOTE HYYA
(3) FEIr <gEE - 1 Hifgw
(4) TECATY TEE TEET
What is the importance of 4" July, 2012 in scientific field ?
(1) ‘Curiosity Rover’ landed on Mars
(2) Discovery of ‘Higg’s Boson’ (God particies)
(3) Chandrayan — 1 mission by ISRO

(4) Discovery of Gravitational waves

FoeaT HITETE ST / SPACE FOR ROUGH WORK
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39. fagaur argd S wes aEem fwtor g gah S o StavAEd e Ao

= roran ?
(1) wefFra = waEn fam (2) wAfF= 39 At fEm
(3) IFH1 BHET=AT AT (4) TR HURE TTE

Which of the following decides the direction of magnetic field created across a

straight current carrying conductor ?
(1) Fleming’s Left hand rule (2) Fleming’s Right hand rule
(3) Right hand thumb rule (4) None of the above

40, FIFHIOWRE T THA A

¥, g A gad dad TEUIR AT

9. e ®E g AR

%, TRABIAl el $esTd Il JHT g ATd
T YA 989 goEe B v A
Qi I ;

If capillary phenomenon did not exist then

a. thread would fail to ignite continuously.

b.  the blotting paper would fail to function.

¢. coconut of the coconut tree would fail to collect water.
d. moving of water inside soil would be difficult.
Answer Options :

(1) Only a, b and c are true

(2) Onlyb, cand d are true

(3) Onlya, bandd are true

(4) Alla,b,candd are true
TOE] HHTETS! ST / SPACE FOR ROUGH WORK P.T.O.
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41, Sfew = wmovEgER
‘AT TR .
(1) 3TEgH A€ Qo
(2) FoAFg S Yo
(3) TelagH SE LoN & Hum
(4) U Rt AT

According to ‘Lewis’,

Acid is defined as .

{1) Electron Pair Donor

(2) Electron Pair Acceptor

(3) Electron Pair Donor as well as Acceptor

(4) None of the above

42, 99H THREM® T 3] GEEITHF o
¥, AWl et we e e,
F. A=l AUYR A TG 6.
3. SreATEd Wit s fir o,

Fhedeh! wivd faur st s/ 2
(1) ®Fd A (2) e A amfir g
(3) wad A, § MU H (4) a3, & AN &

Isotopes are nuclei of the same chemical element
have the same proton number Z’.
b.  they differ in neutron number ‘N’.
c.  they differ in Atomic Mass number ‘A’.
d. they have the different proton number ‘7.
Which of the statement/s given above is/are correct ?
(1) Onlya (2) Onlyaandb
(3) Onlya,bande (4) Onlya,bandd

Foeg] HHATS ST / SPACE FOR ROUGH WORK
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43. @AY S YT AESTAT TS Jrafaar ?

(1) &=+ Zn (2) %9 Cu

(3) fiset Ni (4) Fsfipm Cd

Which of the following metal is used to prevent iron metal from rusting ?
(1) ZincZn (2) Copper Cu

(38) Nickel Ni (4) Cadmium Cd

44, Tagawfa wor 9 o1 nefie v T @il IO S
. ANy MHF

¥, HEA

%, IFAA AR

et For fram/Aur sie s ?

(1) e 37 oMM & | (2) w0 %
(3) wFH (4) I, Faflrs

The difference between ions and atoms is in

a. Relative size

b. Configuration

c.  Presence of charge

Which of the statement/statements given above is/are correct ?
(1) Onlyaandb (2) Onlybande
(3) Onlyec (4) a,bandc

45. Ty vewr e s Sava SoaETd gedte afomrs W wne.

(1) e qiHT (2) e aftwmo

(8) e wiemr (4) e TR T
The properties of a component of a mixture are expressed as partial
(1) normal quantities - | (2) molar quantities
(3) molal quantities (4) None of the above

FoT BIHTATS! FTT / SPACE FOR ROUGH WORK P.T.O.
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46.  W=f @ wSfigieT govE Hew IR, T SR IR,
(1) wfimn (2) “EREET (3) dumfEEm (4) I
The exception for the fact that the cell is the unit of structure for all living organisms
is .
(1) Amoeba (2) Viruses (3) Paramoecium (4) Albugo
47. SSHEESR IRERSAE R gl
(1) $UFH, SFhcT TIHc! MW ea=t
(2) &, T 3 Hege 7o word
(3) =Tt Nehedl, TaTERlcTR 0 Y TR
(4) $upwE, T A =
In frog, external respiration takes place in the
(1) lungs, buccal cavity and skin
(2)  blooed, lymph and tissue fluid
(3) pharynx, trachea and bronchi
(4) lung, body and skin
48. WA HIUAT Teh T 1Y A 7 2
(1) FATHE 8 (2) foeg =
(3) =weH 4) oo wrm
Which of the following is not a component of phloem ?
(1) Companion cell (2) Sieve tube
(3) Vessels (4) Sieve plates
49. WAl HIvAT 997 7 FSE TR goare e o8 2
(1) ¢ ¥ (2) TegrEld ed
(8) SAEIBR = EgRIde qiad (4) Fgoafm wwfid)
What is one characteristic that separates chordates from all other animals ?
(1) True coelom (2) Post-anal tail
(3) Blastopore, which becomes the anus (4) Bilateral symmetry
50.  SIEIHIT 3HY YA UG hA TN Bl Thidh U BAE Al TEUM.
(1) foefaem @ e (3) oaizsd (4) T

The calcium carbonate crystals are deposited at the free end of the stalk of the plant
called .
(1) cystoliths (2) gums (3) alkaloids (4) tannins

FHTegT TS ST / SPACE FOR ROUGH WORK
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51. WRAW @S wiEa ugiE gievr 9fgen e g e .
(1) f&i= (2) TRH
(3) O (4) AL
In India, every year, _ _ would be celebrated as the National Nutrition
Month (Rashtriya Poshan Maah).
(1) December (2) September
(3) June (4) August
52. FE T Gh 29 98 Regi 9n wrEh M et wani Jeadt Wy s
2018 YT Tt WaErrl dvgra e,
1 T (2) wSq) tfen
(3) &+ 4) T

was a country in the world where women are not allowed to drive a four
wheeler but from June 2018 onwards they were allowed to drive.

(1) Iraq (2) Saudi Arabia
(3) Qatar (4) Iran

53. 2017 7} gugdicr S LA o9 TS ¥9 Ui FHar v faws digaen ?

(1) o (2) wgm
(3) T (4) wifEm
Which local railway station in Mumbai created a record for having all-women staff in
the year 2017 7
(1) Parel (2) Matunga
- (3) Dadar {4) Mahim
54, Affeqeiidq g Jufils som e Ay wEd,
(1) foeged (fugfem) (2) wrids (Houdh)
(3) g (PANevaadiar Heft) (4) sl
Oxytocin is natural hormone secreted by glands.
(1) Pituitary (2) Thyroid
{3) Adrenal (4) Ovaries

FHeedl HHEIS WA / SPACE FOR ROUGH WORK P.T.O.
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55.

24
il oferiz & WA S Wit e T Rl ST T TR,
(1) =HHR
(2) wuEHS
(3) e
(4) e
Nomadic Elephant is a joint annual military exercise between India and
(1) Myanmar
(2) Thailand
(3) Mongolia
(4) Sri Lanka

b6.

“Tararsft o1 Bt 7 A1 FEE™ SEw 3.
(1) g greresHt

(2) UR.UH. HAFM

(3) faz vHER

(4) M8 T

‘Who was Shivaji 7" is a book written by

(1) Narendra Dabholkar

(2) M.M. Kalburgi

(3) Govind Pansare

{4) Gaun Lankesh

57.

M AR 2014 A9 A U.UFH, B ARG &1 1300 €4 St Fegel.
(1) 2600 (2) 4000
(3) 3000 (4) 5000

Modi government increased the number of RAX phone lines from 1300 to
in 2014.

(1) 2600 (2) 4000

{3} 3000 (4) 5000

TRl SIS SN / SPACE FOR ROUGH WORK
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58. Tl wr fum e AR ?
A, TEE 81 WRaTS 4 A Siates A She AT,
T mSmmmmmmwmmﬂuﬁmwaﬁa
TR .
*. "ed (§R. 2018) TS WE . fyaw g,
€. 3@ S ﬁﬁmﬁwmﬁmﬁmwﬁm&mwmﬁmﬁ
Tt I
(1) &, 4, s (2) ead A, 9 MU H
(3) R A, FAS (4) ad ¥ A0 F
Which of the following statements are true ?
a. Gaganyan is India’s first manned space flight.
b. It will send 3 human beings into a space for a month long period and they will
be trained in India and abroad.
¢. At present (Sep. 2018) ISRO Chairman is K. Sivan.
d. ISRO has deputed Dr. V. Lalithambika to lead astronaut programme.
Answer Options:
(1) a,b,candd (2) Onlya,bandc
(3) Onlya,candd (4) Onlyaandc
59. TG gaRHT & 1 TETEETE TS TE B
(1) 3 SR (2) Tesgean
(38) ITHTH entedH, drferam (4) BI™
Jalaluddin Haqgani was a member of the _, a terrorist group.
(1) Al Qaida (2) Hezbollah
(3) Afghan Mujahideen, Taliban (4) Hamas
60. TARTYHR wFi faum v,

(1) oy TeEETear Rearia guan aReSdie TRATea SheaE HRwes aiide e .
(2) v U §u=T #e6E o 0 § ITE 90 AR,

(3) HHEYH FHiEacy HEg AR,

(4) wREYEA YRa=r Nfveh [aaT Terie HEearardl fany sl .

Find out the incorrect statement from the below.

(1) Cyprus has supported India’s candidature for an expanded UN Security
Council.

(2) Cyprus is part of European Union and Euro is its currency.
(3) Cyprus is member of Commonwealth.
(4) Cyprus has opposed India’s candidature for the Nuclear Suppliers’ Group.

FTT TS STRM / SPACE FOR ROUGH WORK ' P.T.O.
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6l. IRk FHIUET YR AR gatalor My fasdien Rfzamh datfia arg anfn 3w orwor

HOATE IR Sar ?
(1) HH=EYe (2) UEEIEE
(3) s (4) wEsEAT

Which of the following is used for exploring appropriate and ethical behaviours
related to online environments and digital media ?

(1) Cyberethics (2) Cybersafety

(3) Cybersecurity (4) Cyberlaw

62. I fGvamed gioF T STt d@efid 3R 7

(1) =R (2) HITIIR
3) 9d (4) TEAIW
In Computer World Trojan refers to

(1) Virus (2) Malware
(3) Worm (4) Spyware

63. WrEYH Fvmr Fvdeamryg Tum 77 ?

(1) = (2) g Ed

(3) & g 4) #7

Which of the following is not an antivirus program ?

(1) Norton (2) Trojan Horse

(3) Quick Heal (4) K7
64, @ T, 291, fobar aql s ST Se dER SEeT M.

(1) %= (2) 94

(3) & (4) OFAYRT THE! ATH

A is a data communication system spanning states, countries, as the

whole world.

(1) MAN (2) WAN

(3) LAN (4) None of the above
65, IeCEE it MY 30M F AR ?

(1) TR (2) a=k

(8) oTeeIfeRE (4) oo, ITALTE.

Which is the first search engine in internet 7

(1) Google (2) Archie

(3) Altavista (4) WAIS

HEET HIHTHTE! SR / SPACE FOR ROUGH WORK
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‘o T B W A TR e a e A,
(1) STThie (2) *.%. faten
(3) o7 (4) w98 g
The literary award ‘Vyas Samman’is givenbythe ____ foundation.
(1) Akanksha (2) KK Birla
(3) Amrit (4) J.C.B. literature
67. T TR, N AIST [EHR __ geiud 3.
(1) 1951 (2) 1961
(3) 1974 (4) 1978
Arjuna awards, the national sports award, was instituted in the year
(1) 1951 (2) 1961
(3) 1974 (4) 1978
68. Witw ety WIRfs TR 3oqmrdl 24 T W=l el R, widte s
TS AT 22 v oY el Arfus :
(L g (2) &
(3) TIEIH (4) 9%
The Sahitya Akademi recognises 24 languages for conferring literary awards — 22
languages listed in Indian Constitution (8th Schedule) plus English plus
(1) Bhojpuri (2) Bhoti
(3) Rajasthani (4) Tulu
69. S Y@l aW Fi=T AR 2018 wefiw gt Srifaes woarta FHTH AR,
(1) 141, (2) 24w
(3) bdan (4) 341
Jyothi Surekha Vennam, has a world ranking of in archery, as of
August 2018.
(1) 14 (2) 24
@) 54 4) 34

HoEg] HHNTS! STATT / SPACE FOR ROUGH WORK P.T.O.
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70.  “sie g osea off e foregg” W Tt fodicie qeasrn gaee 2018 =91 SE
HiiE [RT=A] 281 Jeawi=AT Hie fag ndla (stinfore) suam e TR,
(1) I A (2) g U2
(3) <gEM dral (4) YT wEy
“All the lives we never lived” is a book written by , included in the longlist
of ten books for the JCB prize for literature 2018.
(1) Nayantara Sahagal (2) Anuradha Roy
(3) Chandrahas Choudhary (4) Shubhangi Swarup
71.  dfgen wig M @9 ™ R AT QUATd SATeT.
(1) fedst T (2) uhwm
(3) W AT (4) favamam amg
The first Rajiv Gandhi Khel Ratna award was given to
(1) Leander Paes (2) Mary Kom
(3) Saina Nehwal (4) Vishwanathan Anand
72, 2017 9 ‘e TR ardes | iwens fasgic e (Sfe i eRr) e et ?
(1) 3IFe g (2) frfw #fe
(3) a9 (4) Teror FRER
Who received the Tata Literature Live ! Lifetime Achievement Award for 2017 ?
(1) Anil Dharekar (2} Girish Karnad
(3) Amitav Ghosh (4y Kiran Nagarkar
73. 2017 <A1 FH9IS qGEHT faciean FEUT @t AT S 1925 ATl S wfhed qe sTaeied

s yaee e s,
(1) T (2) TSEETEN
(3) oo™ (4) TR

Krishna Sobti, the winner of the Gnyanpeeth award 2017, was born in
district of erstwhile Punjab, now in Pakistan, in 1925.

(1) Gujarat (2) Gujranwala
(3)  Jhelum (4) Lahore

Fo=d] FTHTATS! AR / SPACE FOR ROUGH WORK
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74, VRN GRA tewm ‘BE oaud) i [ewnar i wdm e wfla
a1 FWAH Te 2016 — 1797 Siia 1id TR 0T 3T

(1) <hagt (2) "gEE
(3) @& (4) uiax anfty 97} faedn

Under the ‘Shiv Chhatrapati Krida Puraskar given by the Government of
Maharashtra Bibhishan Patil got the lifetime achievement award for 2016 — 17 for
his achievement in

(1) Kabaddi (2) Mallakhamb

{3> Kho-Kho (4) Power and Body building

75. dufde i Wit e s M @6 T Qe Y HO Joffiee we ot

TR Weslg v ?
(1) W e, (2) &% T
(3) 1 Rfa= (4) %o {9

Who is the first Indian paralympian to receive Rajiv Gandhi Khel Ratna award in
sports and games ?

(1) Mariyappan Thangavelu {2) Devendra Jhajharia

(8) Deepa Malik (4) Varun Singh Bhati

76.  Greiedeht wivrar v g1 wifee arfuer srfafrm, 2005 ¥ afass 18t 2

(1) amgH (2) @md

(3) e (wfoest) (4) 0 FE TR
Whicim of the following is not a part of information under RTI, 2005 ?
(1) Log Book (2) Sample Data

(3) Facsimile (4) None of the above
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77.  “aifEd sl wrmeiEla” “aam st Frags @ e @

3

A, A AEEE
g, ArHE
%, U faymam
3. I Ay
T I

H T )
1y 1 i1 ITI
(2) II I III
(3) III v I
(4) II I1I I

Under “Right to Information

Authorities”.
A

a. Supreme Court
b. House of People
c.  Council of States
d. High Court
Answer Options :

a b C
1 1 II III
(2 1II I II1
(3y III v I
4y II ITI I

=4
I ey
I 3= s Je e

III. v g aEgfd
IV. @

II
v

Act” match the following regarding “Competent

B
I Chairman
II.  Chief Justice of High Court
III.  Chief Justice of India
IV. Speaker

II
v

FFeeqT HETATS! ST / SPACE FOR ROUGH WORK
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78. SR RAWEl WiiEd ifirermrEn sfagm @ Saen W ol g fiam AwtEm R
T e @reft T I g o S

(1) g T (2) ¥ HER

(3) oT&wT A (4) ¥ iR

If we see the history of Right to Information in India, we find that, a campaign was
started under the leadership of in Rajasthan.

(1) Subhendu Roy (2) Harsh Mander

(3) Aruna Roy (4) Harsh Rajbihari

79. wifgdien iR arfufem, 2005 mfier FivR oo Usa wifEd SmETE gEite s ?
(1) e (2) WHTOT =R
(3) ¥ 9TE (4) V0 &
Which Chapter of Right to Information Act, 2005 deals with the State Information
Commission ?
(1) Chapter III (2) Chapter IV
(3) ChapterV (4) Chapter VI

80. wifeeen srfteer arftrfim, 2005 swta “afiea” o
A, FIVEE FEUES, sEfifEd 9 B
q. TR SEUaSTE HIviEl Ashifhen, ARSI anfit yfeeT va.
®. Y OREhifhen Ted Ad heledl SieR fhar afaish St awwa (mn dt ohafia

SHelelt 2@ 91 74@).
. GHIGR AT HUEITE 30 IYHONER aUR shelel ShIUdEl 39T HifRc, FiET THEE Bl
Fia wiv faur st anga 2
g I
(1) waa A for g (2) wFd g IO H
(3) %Fd F HMIE (4) [, 9, FaMrg

As per Right to Information Act, 2005, “record” includes :

a. any document, manuscript and file :

b.  any microfilm, microfiche and facsimile copy of a document

¢.  any reproduction of image or images embodied in such microfilms
d. any other material produced by a computer or any other device
Which of the statements given above are correct ?

Answer Options :
(1) Onlyaandb (2) Onlybandec
(3) Onlycandd (4) a,b,candd

FTEqT HHTATS AT / SPACE FOR ROUGH WORK P.T.O.
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81. a‘:;ms;ﬁﬁﬁémﬁﬁarﬁrﬁwmf siefa “Prae FreEte” Fowen FwErErE s e
2
(1) e 2
(2) %™ 3
(3) w4
(4) =it SR TE
According to the provisions of “Maharashtra Right to Public Service Act” under
which section “Prescribed time limit” is notified ?
(1) Section 2
(2) Section 3
(3) Section 4
(4) None of the above
82. WEWIY WihAdr g% SAGMEH, 2015 <1 IV Hediq A@EAE After T w1 fade S

R ?

(1) e 12
(2) +om 17
(3) o 22

(4) At Hivag! T8

The Maharashtra Right to Public Services Act, 2015, by which section mentioned
powers and functions of Commission ?

(1) Section 12
(2) Section 17
(3) Section 22

(4) None of the above

AT HHTHIST ST / SPACE FOR ROUGH WORK
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83. @i forw fa=mae e
A I TR SIHEET g8 S 2015 Hem 8 Il wum rdte Witk v
FH oI TR At e aits o s, )W
zoten e wre THEE oo sl fgw et it
.
R I g Al evE w1 wEEe ue PR st giien His
T SrEST sgadel e Tt miE Sl
it I
(1) faum Il st I 9% (2) faum 19t 11 5%
(3) e fage s ' (4) ordt faum 9%
Consider the following statements :
Statement I:  The Public Authority shall appoint an officer not below the rank of
Group ‘B’ or its equivalent rank who is superior in rank to the
Designated officer to act as First Appellate Authority under
Section 8 of the Act.
Statement II :  The Public Authority shall appoint an officer who is superior but
below the rank of Designated officer to act as a first Monitoring
: officer.
Answer Options :
(1) Statement II is correct, I is incorrect (2) Statement I is correct, II is incorrect
(3) Both statements are correct (4) Both statements are incorrect
84, TENIG SR @ SARIFEH, 2015 T IETH ST @
(1) IR (2) wrEEH
(38) el W@ (4) THERHE
Find oddman out regarding the Maharashtra Right to Public Services Act, 2015.
(1) Transparent (2) Efficient
(3) Freedom to expression (4) Timely
85. mifgdi=n R srfufEm 2005 e TEING SO 41 TeGEEA HOW 4 =T FISeRO=AT

IINTH AUl TSl
(1) vmaehE feer (2) EEsI- gNon
(3) TR (4) TET BAH

Find oddman out regarding explanation of the word disseminated in Section 4 of the
Right to Information Act, 2005.

(1) Government officer (2) Public announcement
{3) Internet (4) Notice Boards

e BHMATS! TFT / SPACE FOR ROUGH WORK P.T.O.
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86. ‘siftma wna I @ swifasil geeAs s wivh e 2
(1) w1 T e (2) ST TY
(3) gt " (4) fazr, waE
Who formed a secret revolutionary organization, ‘Abhinav Bharat’ ?
(1) Bal Gangadhar Tilak (2) Chaphekar Brothers
(3) Lahuji Salve {4) V.D. Savarkar
87. YRETAT YEMEA Aamed el 91 gl e Bl
(1) FH%3HET @) feamrz-sie
(3) feamor3-werd (4)  feamor-3-fasma
In Shershah’s Administration important official of ‘Sarkar’ was
(1) Munsif-i-Mansifan (2) Diwan-i-Barid
(3) Diwan-i-Rasalat (4) Diwan-i-Wizarat
88.  WrElierdh! hivwan 3 WIE YW JEE TN STATETETG e W hedl wiedr ?

H.  HFAEERE 9 Hi 2 Nes Taw Y INAN W AemHES TN,

9. Sl quiET g gael T U T gaR A9 i wnfeafia w9 WRa st
fatiura v A

F.  THEAH W FEUE Y1 I 50 @ ¥ FIAT e,

3. Hyted SR gall YeITEe SeTe ST foly e

ﬂ'ﬂf‘d’fﬁi:
(1) =0« ad (2) wF T
(3) S (4) wFqa A Af0 =+

Which of the following conditions were confirmed by Shah Shuja-ud-Daulah at
Allahabad Treaty ?

a. Nawab Shuja ud-Daulah surrendered Allahabad and Kora districts to Shah
Alam,

b. Open assumption of authority would have brought the Company in its true
colours might have achieved the miracle of uniting while India against the
Company and the embroil them in war.

¢.  Shuja ud-Daulah agre to pay rupees 50 lakhs to Company as war indemnity.
d. Court of directors decided to end the dual system of administration.

Answer Options :
(1) All of the above (2) Onlyb
(3) Onlyd (4) Onlyaande

FHoed] BHEHIS! ST / SPACE FOR ROUGH WORK
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89,  ITHEUH HAEQ WK I A UEUR TAGAT i1 EHH HOAER el
(1) wsfem feht (2) 3Tge oA
(3) Fzm-srasda 4) T
Akbar laid the foundation of the new city Fatehpur Sikri in the honour of
(1) Salim Chisti (2) Abul Fazl
(3) Nizam-al-Din (4) Humayun
90. TS HNY FrarETdl R WS Whe A1 BT T 9 FA 8 2
. afEn
. IFHA, GEY HEW
g, WM, ORI
wafeh 3w |
(1 Fba & (2) FHF
(8) ®H T (4) W 3 A0
Which provinces had allotted by Shahu to Raghoji Bhosale for expansion of Maratha
Raj ?
a. Bengal, Bihar
b.  Orissa
¢.  Deccan, South Satara
d. Malva, Gujarat
Answer Options :
(1) All of the above (2) Onlyc
(3) Onlyb (4) Onlyaandb
91. TS @ H W0 F IGE AAY S AT IR 2

(1) St (2) N

(3) A FRire (4) waEm

Remote sensing is one of the effective and accurate modern technique of what ?
(1) Irrigation (2) Agrniculture

(3) Urban Planning (4) Surveying
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92. ¢4 feift 999 (Ten Degree Channel) hlvicaT ST TN TR 7
(1) ®r femr anfer 3¢ fepem

(2) B frpram anfor R FeEm

(3) B 3eHM MM wR FpEn

(4) I AN afY SR FhER

Ten Degree Channel is between which of the islands ?
(1) Little Nicobar and Great Nicobar

(2) Little Nicobar and Car Nicobar

(3) Little Andman and Car Nicobar

(4) Little Andman and Little Nicobar

93, W Asw @&

g7 JE foezT
. T [ oA
d9. 9 L geemm
%. war fa III. 3RmeETg
g Toft |m IV. ¥Em
QAT IW
< | q9 < g
(1 1III I v IT
(2) III v I II
(3) III | IT JAY
4y 1UI 11 I v
Match the following :
Forest Parks District
a. Himayatbagh I Jalgaon
b. Pal II. Buldhana
¢.  Pratap Singh III. Aurangabad
d. RaniBag IV. Satara
Answer Options :
a b c d
(1) III I v II
(2) I v I I
(3) III I II v
(4) III II 1 v
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T fafrdys FIFvR FoW 3 Sufum e 2
(1) I 4 gfeqor Frawm
(2) WAR 9 aeet
(3) TS, IO F TATE

(4) Tt 3 faagt

In which two parts Konkan region is divided due to physical diversity.
{1) North and South Konkan

(2) Khalali and Walali

(3) Mumbai, Thane and Raigad

(4) Ratnagiri and Sindhudurg

95. TWIHIH PN q@ae BTN T Aeamd! Uig s ?
(1) et
(2) 4e@
(3) FeEdt
(4) SAIRMT

Which one of the following deserts is famous for the deposits of Sodium Nitrate ?
(1) Gobi

(2) Sahara

(3) Kalahari

(4) Atacama

96, TEWHUEAUGRITE@ AN & IR,
(1) wESH HEs A FRHES TEAI HR FAW
(2) TAHR TRV G Tad oo ot srfus weiam o
(3) FHEHH 4B B FUHSSH FqTEER Tgd
(4) A YqE & RasuEifEE seere e e

The main advantage of the parliamentary form of government is that
(1) the executive and legislature work independently.

(2) it provides continuity of policy and is more efficient.

(3) the executive remains responsible to the legislature.

(4) the head of the government cannot be changed without election.

FEIT HHTATSE ST / SPACE FOR ROUGH WORK P.T.O.



D12

97.

38 A
Togeenes e q Hdoar=T TamEs I B FOTT ST
(1) @I AN e 9eshHE1 a0
(2) YA TR TERANTE U@l
(3) werTE anfu faeaes Feain Freoma a1
(4) TIGYH TREMT el d FFRIa AftreR Wrer= 3o

The Fundamental Duties were included in the Constitution for the purpose of
(1) to protect the weaker section from social injustice.

(2) to prevent abuse of Fundamental Rights.

(3) to curb subversive and unconstitutional activities.

(4) to accord priority to Directive principles over Fundamental Rights.

98.

“wRmr e wu e S A SR i, SWEE S sufr w@aar gatio
T & woa 717 o Sl wed 2

(1) ™. aAR=hi (2) . TR

(3) 9 df® (4) ¥THY gisol

Who said “Rights are such conditions of the social life, without which a person
cannot make all-round development” ?

(1) Prof Laski (2) Dr. Garner
(3) John Locke {(4) Thomas Hobbes

99,

femaityg T o i i sRuarn Soe FEE 7 TEIGEEd =T FEE AR, FE A
AR 787, & AT GfIUmrsT S saumed e 664 Fifiae 31 ?

(1) <het® 169(1)

(2) <Hhad 169(2)

(3) e 169(3)

(4) HoH 168(2)

In which Article of the Indian Constitution, does it mean that the law to abolish or
create a legislative council is not a law of Constitutional Amendment ?

(1) Article 169(1)

(2) Article 169(2)

(3) Article 169(3)

(4) Article 168(2)
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100. wRha Fur faame e

A, Ha$ um GaEd fufw, 1958 AT w6 T IHEEE! WG IR

9. 735U USAIGHR SRS Fod 243 SFAR U WA HIwh AR .
®.  IW aven fFaes T

T W TOEES T TAER § IW S qUEE IEAr.

TR FoR free v aRa ?

(1) %&q A, ¥ AT &

(2) waF W, T AT 3

(3) wad &, § oo o

(4)

ElEREE]

Consider the following statements :

a.,

C.

d.

There is a provision of Gram Sabha in Section 6 of the Mumbai Gram
Panchayat Act, 1958,

According to Article 243 of the 73" Constitutional Amendment Act, the Gram
Sabha has Constitutional Rights.

Gram Sabha has no Election.

All the voters of Gram Panchayat are members of the Gram Sabha.

Which of the statements given above are correct ?

(1)
(2)
{3)

(4)

Onlya,bandc
Only b, cand d
Only ¢,d and a

All of the above
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(8) wwufreaer fafga woey fafie wnfle +5 W (% o) wR. Tyl st o 5@
FIIGER FR B FeIH F M) HOATEAT AW Hel AR, AW A AR o HATER IHSWIT ATEAH
T Hoew wemed g YT TREy waEEad sufien-g2” I atgdifeR Fward
HaE A 9 Sl SyF FME T 9= SEEre 3 /fhar 599 U g9 e assa e
o B,

(9) T WAIBRHAR AEm fifga Feeh Yo duearw SHEERTE @ Tt Ea e T ST
U3 TN TEET AR, WA THEnEHTETdl AvagEl IHEaN et Jeatrer Wi-1

FRAFTRE T AT qww S Savae .

q. . 201.

7. %. 201,

oTqslT URsl
Tt we A FOFTErEt Sl e W e ?
1) Tanft EHg wwEEdt (@) FaEy fRmErR
(3) TS qeHIEA U (4) TATSFHET TRERA

T TN A I @) TN TR T 3 AR, S 91 e I (3) g
IRGd WIIATAT Y99 3. 201 TGS IRFAH (@) & dqB PO DEfhd wEA
TrRafaor TS I,

® @ @ @

ST YA Wege SEgfEddel Telid Y gae ST-HNIE B greten wemsien gl
FTBRAE & W FEHAEER Hafud ages Ot STied T SREamr. gIreRiar
e FNET AR ST aoud, o 91 v U e T
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